Problem in Trigger position (LaBr3 triggered)
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Problem in Trigger position (LaBr3 triggered)
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Problem in Trigger position (Nal triggered)

Blue: Nalinch 1l &2
Red : Nalinch3 &4
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Config files

For LaBr3 single

TCE

PTRIG 160606 # pedestal trigger [ms]
Cw 256

TRGON 1 #1 normal, 2 ptrig, 4 ext trig,
MTHRF 1 # 2 for Nal trigger
PSCF 1

END

FADCT 19 4

EMABLED 1

Cw 200

CID 1234

PID 1234

TLT 1

POL (]

RL 64

THR 200 4055 4095 40595
DTIME @

OLY 30006

DACOFF 3500

™ 1

PCT 1

PCI 200

PWT 50

ZEROD 4]

END

For Nal coincidence (for 2 PMTs)

TCE

FTRIG 1066 # pedestal trigger [ms]
Cl 256

TRGON 1 #1 normal, 2 ptrig, 4 ext trig,
MTHRF 2 # 2 for Nal trigger

PSCF 1

END

FADCT 19 4
EMAELED 1

Cw 200

CID 1234
FPID 1234
TLT 1*2

POL @

RL 64

THR 15 15 4095 4895
CTIME @

oLY 3000
DACOFF 3500

™ 1

PCT 1

PCI 200

FWT 50

ZEROD @

END



